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7UROL�EXNX�SHUSXVWDNDDQ�8QLYHUVLWDV�7HONRP�PHUXSDNDQ�DODW�XQWXN�PHPEDQWX�NHJLDWDQ�

SHQJHPEDOLDQ�EXNX�WHUKDGDS�SHQJXQMXQJ�GDQ�SURVHV�SHQDWDDQ�EXNX�ROHK�SXVWDNDZDQ�

DWDX� VKHOYLQJ��0DVLK�EDQ\DN�NHOXKDQ�SHQJXQMXQJ�SHUSXVWDNDDQ�8QLYHUVLWDV�7HONRP�

WHUKDGDS� OLQJNXQJDQ� SHUSXVWDNDDQ� \DQJ� NXUDQJ� UDSLK� VHUWD� NHWLGDNVHVXDLDQ� DQWDUD�

NHWHUDQJDQ� NHWHUVHGLDDQ� EXNX� GL�ZHEVLWH GHQJDQ� NHQ\DWDDQ� GL� UDN� EXNX�� 6HODLQ� LWX�

WHUGDSDW�NHOXKDQ�EHUDVDO�GDUL�SXVWDNDZDQ�DNDQ�EXGD\D�SHQJXQMXQJ�\DQJ�PDVLK�EHOXP�

WHUWLE�GDODP�SURVHV�SHQJHPEDOLDQ�EXNX�VHUWD�WUROL�EXNX�VDDW�LQL�\DQJ�VXOLW�GLNHQGDOLNDQ�

GDQ� NDSDVLWDV� \DQJ� UHODWLI� NHFLO�� 7XMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN�

PHQJHPEDQJNDQ� GHVDLQ� WUROL� EXNX� SHUSXVWDNDDQ� 8QLYHUVLWDV� 7HONRP� \DQJ� VHVXDL�

GHQJDQ� NHLQJLQDQ� SHQJJXQD� GHQJDQ� PHQJJXQDNDQ� PHWRGH� 8VHU� &HQWHUHG� 'HVLJQ

VHEDJDL� NRQVHS� XQWXN� PHQHQWXNDQ� GHVDLQ� SDUDPHWHU� WUROL� EXNX� SHUSXVWDNDDQ�

8QLYHUVLWDV�7HONRP��6XUYHL�GLODNXNDQ�XQWXN�PHQJLGHQWLILNDVL�NULWHULD�SHQJJXQD�GDQ�

SHQJJXQDDQ� DQDOLVLV� VWDWLVWLN XQWXN� PHQJXML� KLSRWHVLV� \DQJ� GLNHPEDQJNDQ�� +DVLO�

SHQHOLWLDQ� LQL� DGDODK� GHVDLQ� SDUDPHWHU� WUROL� EXNX� SHUSXVWDNDDQ� 8QLYHUVLWDV� 7HONRP�

\DQJ�GDSDW�PHZDNLOL�NHLQJLQDQ�SHQJJXQD�VHUWD�WUROL�EXNX�\DQJ�GDSDW�PHQMDGL�GHVDLQ�

\DQJ�(IHNWLI��$PDQ��6HKDW��1\DPDQ��GDQ�(ILVLHQ��($61(��
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